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ES-335 : TEACHER AND SCHOOL 

Time : 3 hours 	 Maximum Weightage : 70% 

Note : (i) All questions are compulsory. 

(ii) All questions carry equal weightage. 

1. Answer the following question in about 
600 words : 
Justify the statement - "Society is a system and 
that education is a subsystem of the societal 
system". 

OR 
What are the different modalities of inservice 
training of teachers ? Discuss contribution of 
various modalities of inservice training in lifelong 
learning of teachers. 

2. Answer the following question in about 
600 words : 
Discuss different principles of time table 
construction. 

OR 
Explain the meaning and purpose of school 
budget. What are the different steps for preparing 
a school budget ? 
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3. Answer any four of the following questions in 
about 150 words each : 
(a) Discuss the role of SCERT in the field of 

school education. 
(b) What are the specific characteristics of 

higher secondary stage ? 
(c) What are communication barriers ? Discuss. 
(d) Explain the role of teacher as a counsellor. 
(e) What do you understand by peer 

evaluation ? Discuss criteria which you 
would keep in mind before evaluating your 
peers. 

(f) Explain the concept of school complex. 
Discuss some activities that can be 
effectively carried out in a school complex. 

4. Answer the following question in about 
600 words : 
Explain the meaning and importance of Action 
Research. Choose a problem which you are facing 
at school and develop a plan for action research. 
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